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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I&II • EXAMINATION – WINTER 2013 

Subject Code: 350602 Date: 29-11-2013        
Subject Name: Quantity Survey and Valuation 
Time: 10:30 am - 01:30 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. English version is considered to be Authentic. 

Q.1 (a) Enlist skills required for a good estimator. 04 
 (b) 

(c) 
Enlist factors affecting value of a property. 
Explain rules for deduction in masonry work & plastering work.   

03 
07 

Q.2 (a) Write detailed specification for 15mm thick sand faced plastering in CM(1:4)  07
 (b) Derive rate analysis for R.C.C work (1:2:4) 07
  OR 
 (b) Derive rate analysis for brick work in CM(1:4) 07

Q.3 (a) Calculate quantity of following item of a residential building as shown in fig-
1 
Earth work in excavation for foundation of walls 

07 

 (b) Calculate quantity of following item of a residential building as shown in fig-
1 
12mm thick inside plastering in CM(1:4). Consider height of wall = 3 meter. 

07 

  OR  
Q.3 (a) Calculate quantity of following item of a residential building as shown in fig-

1 
Brick work in CM(1:4) in foundation & plinth 

07 

 (b) Calculate quantity of following item of a residential building as shown in fig-
1 
(i)Tiles flooring in Bedroom, Hall, Kitchen &Store  
(ii)Earth filling in plinth 

07 

Q.4 (a) Fig.-2 show R.C.C.beam ,find quantities of  25mmØ  & 6mm Ø steel 
reinforcement 

07 

 (b) State methods of valuation of property and explain any one method in details. 
 

07 

  OR 
Q. 4 (a) Fig.-2 show R.C.C.beam ,find quantities of  of form-work, quantity of 

concrete in beam(1:2:4) & total nos. of cement bags required in the beam 
07 

 (b) Differentiate between:(i)Book value & Market Value(ii) Valuation & 
Estimation  

07 

Q.5 (a) Calculate the monthly rent from the following data: 
(i) Cost of construction :       Rs.8,50,000 
(ii) Cost of land :        Rs.3,00,000 
(iii) Annual return on cost of construction :  9% 
(iv) Annual return on cost of land: 5% 
(v) Municipal taxes & maintenance: 12% of net income 
(vi)Other out going : 20% gross income  

05 

 (b) 
 

Calulate the accumulated sum ,if Rs. 7000 is deposited at end of each year for 
10year at the rate of interest 6% 

05 
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(c) If amount invested in saving scheme is doubled in 8 year .calculate the rate of 
interest.  

04 

  OR  
Q.5 (a) A person intends to sell his building having details. 

(i) Monthly rent Rs.12,500 
(ii) Future life: 40 years 
(iii)outgoing : 20% of gross rent 
(iii)Interest on capital :8% 
(iv) Interest on sinking fund :5% 
calculate present value of building. 

07 

 (b) Explain various methods of finding out depreciation & write formula to find 
out  depreciation cost after "m''years,if life of building is "n" years. 

07 

 
************ 
Ȥજુરાતી 

̆ĕ. 1 અ સારા ӔદાԌકાર માટ°ની લાયકાતની યાદ� બનાવો. 04 
 બ 

ક 

િમલકતની �કમતનેઅસર કરતા પ�રબળોની યાદ� બનાવો. 

ચણતરકામ અને  Ɯલાƨટરકામના બાદકામના િનયમો સમĤવો. 

03 

07 

  ̆ĕ. 2 અ ૧૫મીમી Ĥડાઈમા ં (૧:૪)ના િસમેƛટ કોલમા ં સેƛડ ફ°સ Ɯલાƨટરકામ માટ° 

િવિશƧટ િવિવરણ લખો. 

07 

 બ આર. આર.સી. (૧:૨:૪) કામ માટ° ભાવ ȶƘુƘકરણ કરો. 07 
  અથવા  

 બ ૧:૪ના કોલમા ંӖટોના ચણતરકામ માટ° ભાવ ȶƘુƘકરણ કરો. 07 

  ̆ĕ. 3 અ આȢૃિત ૧ મા ંદશા½વેલ મકાન માટ° નીચેની રાશીઓ ગણો. 

દ�વાલોના પાયા માટ° ખોદાણકામની રાશી 

07 

 બ આȢૃિત ૧ મા ંદશા½વેલ મકાન માટ° નીચેની રાશીઓ ગણો. 

૧૨મીમી Ĥડાઈȵુ ંિસમેƛટ કોલ (૧:૪)મા ંӔદરની દ�વાલોȵુ ંƜલાƨટરકામ 

07 

  અથવા  

̆ĕ. 3 અ આȢૃિત ૧ મા ંદશા½વેલ મકાન માટ° નીચેની રાશીઓ ગણો. 

પાયામા ંઅનેƜલીƛથમા ંિસમેƛટ કોલ (૧:૪)મા ંӗટ કામ 

07 

 બ આȢૃિત ૧ મા ંદશા½વેલ મકાન માટ° નીચેની રાશીઓ ગણો. 

(૧)બેડ Įમ,હોલ, રસોȮુઅંને ƨટોરĮમમા ંટાઈƣસ ફરસબધંી 

(૨) Ɯલીƛથમા ંમાટ�ની ભરતી 

07 

  ̆ĕ. 4 અ આર. આર.સી.બીમ આȢૃિત ૨ મા ંદશા½વેલ છે તેપરથી ૨૫મીમીØ અને૬મીમી Ø 

લોખડંના સળ�યાની રાશી 

07 

 બ િમƣકતના Ⱥƣુયિનધા½રણ કરવાની ર�તો જણાવો.અને ગમેતે એક ર�ત િવગતવાર 

સમĤવો  

07 

  અથવા  

̆ĕ. 4 અ આર. આર.સી.બીમ આȢૃિત ૨ મા ં દશા½વેલ છે તેપરથી ફોમ½ વક½ની રાશી 07 
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ગણો,˲ોક�ટ કામની રાશી(૧:૨:૪) તેમજ બીમના કામ માટ° જĮર� Ȣુલ િસમેƛટની 

થેલી ગણો. 
 

 બ તફાવત લખો.(૧) ચોપડાȵુ ંȺƣુય અને બĤર Ⱥƣુય (૨) વેɀએુશન અને Ӕદાજ 07 

  ̆ĕ. 5 અ નીચે આપેલ મા�હતી ઉપરથી માિસક ભાડાની ગણતર� કરો. 

(૧) બાધંકામનો ખચ½: Į. ૮,૫૦,૦૦૦ 

(૨) જમીનની ક�મત: Į. ૩,૦૦,૦૦૦ 

(૩) બાધંકામ પર વાિષ�ક વળતર: ૯% 

(૪) જમીનની ક�મત પર વાિષ�ક વળતર: ૫% 

(૫) ƠȻનુીસીપલ વેરા અને મરામત: ચોƉખી આવકના ૧૨% 

(૬) અƛય િનગા½મી ખચ½: Ȣુલ આવકના ૨૦% 

05 

 બ 
 
ક  
 
 

દર વષ½ના Ӕતે Į. ૭૦૦૦ જમા કરાવવામા’ંઆવેતો ૬% ના ƥયાજનાદર° ૧૦ 

વષ½ના Ӕતે જમા થયેલ રકમ શોધો. 

જો સેિવ�ગ યોજનામા ંરોક°લ નાણા ૮ વષ½મા ંબમણા થતા હોયતો ƥયાજનો દર 

શોધો 

05 
 
 

04 

  અથવા  

̆ĕ. 5 અ એક ƥય�ƈત પોતાȵુ ંમકાન વેચɂુ ંછે.Ȑની િવગત નીચે Ⱥજુબ છે. 

(૧) માિસક ભાȮુ ં: Į.૧૨,૫૦૦ 

(૨) મકાન ȵુ ંઆȻƧુય : ૪૦ વષ½ 

(૩) તમામ ખચા½ : Ȣુલ આવકના ૨૦% 

(૪) Ⱥડૂ�રોકાણ પર ƥયાજનો દર: ૮% 

(૫) નાણા ભડંોળ પર ƥયાજનો દર: ૫% 

07 

 બ ઘસારો શોધવાની પƚધિતӟ સમĤવો અને “m” વષ½ પછ� ઘસારાના Ⱥƣુય 

શોધવા માટ°ની ફોȺુ½લા લખો. �બƣડӄગȵુ ં આȻƧુય “n” વષ½ ગણો. 

07 

 
************ 
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